


=) UPCOMING ONLINE BATCHES

04 JAN 2023

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

04 JAN 2023

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

January 2023

11 JAN 2023 18 JAN 2023

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

18 JAN 2023

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI

25 JAN 2023

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e \ 7052477777/7052577777



SSC GD 2022-23

Excluding stoppages, the speed of a bus is 60 km/h and including stoppages, it

is 48 km/h. For how many minutes does the bus stop per hour?

AT hl BIgHT, Ueh 9 <hT T 60 TRHI/ET & 241X SgTrat ol foreTen, a2 48
fert/eeT 31 ata wer o ferae e & feTu Eene 12 2

a) 12
b) 14
c) &

d) 10




SSC GD 2022-23

A dealer allows his customers a discount of 15% and still gains 10%. If the

cost price of an article is 850, what is its marked price (in ¥)?

T forshaT 3T TTEent SRt 15% Y B ST § TR T | 10% o119 3Tieia ot 8|
AT ToREl €T T ohd Ted 850 TUY &, A1 IHHT JTehd Hed (TUA W) FAT ?

a) 1,100
b) 1,250
c) 1,200
d) 1,150




SSC GD 2022-23

The seats allotted for ECE, Mechanical and civil Engineering in a college are
in the ratio 3 : 4 : 5. There is a proposal to increase the seats by 20%, 35%
and 44% respectively. The ratio of the increased seats will be:

e hierst 3 ECE, nfenet ot ffrer softforatier 3 forg arifea dei
STTUTA 3 : 4 : 5 71 TS I THAN: 20%, 35% 3R 44% T T TEQT 51 TG T3
et ohT STTUTA T T2

a) 2:3:5
b) 3:5:6
c) 2:3:4
d 4:5:6




SSC GD 2022-23

Find the valueof 5+5o0f5+5-13+5-2o0f 3 + 3.
5+5HT5+5-13+5 -3 HRT2 + 3 KT U AT hINT0

29/5
27/5
73/5
53/5



SSC GD 2022-23

A purse was sold for 99 with a profit of 10%. If it was sold for 72, then what

would be the percentage of profit or loss?

Teh T8 T 10% o T &% 1Y 99 FUA H AT ATAT 21 AT 30 72 TUA § A<AT ATAT
2, T T AT ST SRt TTd9Td ST B2

a) 40% loss
b) 45% loss
c) 20% Loss
d) 25% Profit




SSC GD 2022-23

The radius of a sphere is 6 cm. The sphere is melted and drawn into a wire of

radius 0.4 cm .The length of the wire is :

Ueh T <hT 22T 6 AHY 31 MY R fUraretrent 0.4 At =2 &1 ar S= T ST 2l
AR T TS FT 2?2

a) 14m
b) I5m
c) 18m
d) 16m




SSC GD 2022-23

The average of 4 numbers is 60 and the 1st number is 1/3 of the sum of the

remaining three numbers. What is the first number ?

4 FEITN T 3T 60 T 3N Uget! TEIT AT 1 HEATA o TTHR 6T 1/3 2
Ueet T I 22

a) 120
b) 60
c) 30
d) 40




SSC GD 2022-23

A certain sum amounts to ¥9,036 after 3 years and to 11484 after 7 years at the same
rate per cent per annum at simple interest. What will the compound interest( in %) (to the

nearest ¥) on the same sum for 2 years at the double rate of interest if interest is

compounded annually?

Teh AT TIST STt STt shl I8 ATfeh 3 Jfa9rd U 3 9N o 91 9,036 T 31X 7 99
o T2 11484 TUX BT SATAT 3 AT AT ATk T W TS TohAT STTAT 8, a7 THTT T W 2
¥ & foTe STt e R WX wshafy st (U W) (Frereaw Sur §) @ g

a) 2656

b) 3123

c) 2255

d) 2764




SSC GD 2022-23

In an election, two candidates are contesting. The winner got 48% of Valid
votes. His opponent got 34% of valid votes and lost the election by 21000

votes. Rest of the votes were invalid. The total number of valid votes is:

Tk AT H &1 TeAT9i 5 W g1 forsrar st 48% er war foell 37k Uiagst i
34% 31 wa TR 3 &8 21000 FaAT & FATT TR SATAT | 99 e ATl &A1 ek wat
<hT el HTAT T 77

a) 145000
b) 150000
c) 148000
d) 135000




SSC GD 2022-23

A sum of 14,175 is divided among A, B and C in the ratio 2/3 : 3/5: 5/6 . |
What is the difference (in ¥ ) between the shares of A and C?

14,175 S R ARTHT 2/3 : 3/5 1 5/6 % FTATTH A, B 3R C o = farwiora
ferar STt 21 A 3R C o fRat o ofter o1 3feR (Fu ®) T 8

a) 900
b) 950
c) 1125
d) 1050




SSC GD 2022-23

A shopkeeper buys goods for Z6,000. He sells 40% goods at a profit of 8% At
what profit percentage( correct to one decimal place) should he sell the

remaining goods to gain 25 % on the entire transaction?

Teh JRTER 6,000 TUA H ST ST 81 TE 40% TEJAT T 8% oh 19 W
TR 31 G B3 U 25% T AT 1T et 3k Forg 8 9 et i ey
ST TTA9Ta (SIS o dTS Yok TAT Tk YT {ehel) T SAGAT ATRT?

a) 28.4%
b) 26.7%
c) 32.6%
d) 36.3%




SSC GD 2022-23

Out of two numbers, the first number is three-fourth of the second number. If

the average of the reciprocal of the two numbers is 7/48, then the first number

1S
< AEATS | W, Ugel! WA TH HEAT shi AH-9irerTs 81 At Sl deaneti o
SICShH ohT ST 7/48 7, TV T8 T a1 & T 32

a) &
b) 4
c) 10
d) 6
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